#4

Mgmt 380

Assignment #3

Defining a linear programming model, solving it graphically,

and presenting the analysis

DUE:  February 13

15 points

You may work on this assignment in teams of two, and turn in one paper for the team – both team members will be assigned the same grade (see II.b. on handout #1).

If you choose the “team of two” option on other assignments, you must work with at least three different people throughout the semester.

Worldwide Claims Processors is a company that processes insurance claims for large national insurance companies.  Most claims processing is done by a large pool of permanent and temporary computer operators.  A permanent operator can process 16 claims per day, while a temporary operator can process 12 per day.  On average, the company processes at least 450 claims each day.  The company has 40 computer workstations.  A permanent operator averages about 0.5 claims with errors each day, whereas a temporary operator averages about 1.4 defective claims per day.  The company wants to limit claims with errors to 25 per day.  A permanent operator is paid $64 per day and a temporary operator is paid $42 per day.  The company wants to determine the number of permanent and temporary operators to hire in order to minimize costs. 

I. 
What is the optimal solution?  What is the slack/surplus?

II.  
What is the effect on the optimal solution and slack/surplus of changing the daily pay for a permanent claims processor from $64 to $54? 

III.
In the original problem, what is the effect on the optimal solution and slack/surplus of changing the daily pay for a temporary claims processor from $42 to $36?

IV.
In the original problem, what is the effect on the optimal solution and slack/surplus if Universal Claims Processors decided not to try to limit the number of defective claims each day?

V.
In the original problem, explain what happens if the minimum number of claims the firm processes each day increases from 450 to at least 650.

Your assignment must include the following:

1)  the linear programming model for the original problem (part I.)

2)  the graphical solution for the original problem (part I.)

3)  the STORM printouts for parts I. through V.

4)  the executive summary (see handout #1)

a)  You must report all five parts.

b)  You must explain the slack/surplus as well as the optimal solution values.

5)  all other requirements for assignments stated on handout #1

